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Hint : look for the key words that go with the variable

For the problem, state the variable, write and solve the equation, verify and give a statement.

Sally has a cell phone that has a monthly charge of $20 plus an
additional $0.05 for each call or text that is made. [ Sally’s bill last
month was $80.20, how many call/texts did she make?

Let x= Fof cals/lxds She made

0.05x + < 80.20 -0
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= (0-8) = (0.09)
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page 350
#1, #2 #3 #4 #7 #9,#10

Test outline
5MC

6 Short Response

#1 Draw tiles and solve an equation

#2(ab) For each problem, state the variable, write and solve
the equation and give a statement. (Like warm up)

#4 Solve  Ex) 2(x-3)=16 ex) (x/3)-7=10

#5 Is it correct if yes then verify if no then redo)
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